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1. What was the situation before the initiative? (the problem)

Describe in no more than 500 words, the problem to which the initiative

was a solution, including major issues, trends and conditions, as well as

which social groups were affected.
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2. What were the key benefits resulting from the initiative? (the solution)

In no more than 500 words, summarize the achievement(s) implemented;
how the impact was measured, quantitatively and qualitatively, and who
benefited from it. Please note that the summary should be in narrative,

not point form.

I A8 2H HZ2 XA SAl ALHO0I JIHD & =2 o= (SAl
A0l JEHCH & 4t E8/AHoz 0|7 Fek(==Xl), 2t =6k S=
== XU 30002 HdEotAIR)

2006 Bl&4012) =2t sH21MIl XEst 228 W H0HAH AMS0l
AOHE D] I8t RS ShHot "&#Ho'e "AaE’0lete W0l S22 oL,
A2 Z02 AICHO B=HQ AlBl B0HE =Tols SZ20F 20 Tt

o
ANBISS FHOIHQI OIOICIHE AIE0 =gold| <Ast AA-HES Bt=I|
ANEGICE 0l1210] B2 ‘A BHAAL @ 0FAl A (oasis.seoul.go.kr, 2006. 10. 10!
2 E)0ICt.

‘ARl ZHOl AL Selidtll, Y So YeZ S2EX MEIF 0l 42

AlAD FEI A= FOol =S 2= 0l AIOIEE I olde=z

NIES S50 =0t S8 &2 A2 222, A2l HHHAS ZEHOZ
XiclofZ ot ALk

JIE ANBIESHT=E 1997~20074. 5830t F 3,585401 =LA, 1 S
872101 THEHEIAXISH, OO = MY 28I+ E 2011, 48 Io2dI E
201X S92 &t o HO HEs =XE LAg = 8l A4F0IULL
OfXIEH HOtyar 0tAIASl HR0= 2008E 122 312 &M 2902tHO0



gdEotal, 28F 212 OFOICIOIIl E+EALMH, 133 ABISE HAH &
702101 ASA EXMO2 THEHERUCH EF MECHHEZ2 Al ZLIHE A
MNLFRSE 2A2E FIFHQMNA)2E A AIGHAH, 2008. 12312 S ==
2 el Il otA0l 52, AHE=sE 152, JE 3H0/H, HEHQI
Aoz 21 A2 sZUelE BEM, Oble 4, 382 8, oAy
Jat& Mot S0 ATH

3. Who proposed the solution, who implemented it and who were the

stakeholders?

In no more than 500 words, specify who contributed to the design and/or
implementation of the initiative, including relevant civil servants, public

institutions, organizations, citizens, NGOs, private sector, etc.
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4. Describe how and when the initiative was implemented by answering
these questions
A, HEH oY AMESE HEoIZ =X OtcHel 220 Met oA,

a.were the strategies used toimplement the initiative? In no more than 500
words, provide a summary of the main objectives and strategies of the

initiative, how they were established and by whom.
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b.were the key development and implementation steps and the

chronology? No more than 500 words
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c.What were the main obstacles encountered? How were they overcome?

No more than 500 words
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d.What resources were used for the initiative? In no more than 500 words,
specify what were the financial, technical and human resources costs

associated with this initiative. Describe how resources were mobilized.
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In no more than 500 words, describe how the initiative is being sustained
0]

environmental, institutional and regulatory sustainability). Describe whether
the initiative is being replicated or disseminated throughout the public
service at the national and/or international levels and/or how it could be

(for example in terms of financial, social and economic, cultural,

5. Is the initiative sustainable and transferable?
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What are the impact of your initiative and the lessons learned?

no more than 500 words, describe the key elements that made your

initiative a success.
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